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EXAMPLE : Tha marﬁusle s P=0.5m ond +he direckion 58
D=730" Find ™ ond 'Pa ond wete P ia Vethoe aotadven,
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'P.a = 0.5 3ta 20 = 0.5 (V,_) = 0.25
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EXAMPLE : (e 2120 - Stedsas)

A person pushes v vacuum Cleoner m.ﬂf\ o fore of F= 20 1o

.O& on answ.‘oF 4O* cakive to 4 goud. Delfermine +he \orzental
~ond Verkicad (ompeneds o the fore. | -
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LEE 2010 - Grenn) '
. J\"h ‘ |
. R=le05
Z |
X =302
L, -
Xo i IMpeém & tadustor (1)
R impedoncs oF cesistor (resistene, 2D
2= R+ X* ., 4otad 1/pedonre
Q‘S:’ oden 2 %) . Phﬂs{ ona\.c
Vete Notation: 2= R5 + X f 2
Here , R=1002, XL =30
| =2 =108+ 3] o
Total Tmpedonee © 2= JQooD + (0% = (4.4
P\\DSGA{'\B\{ : . ' ¢": bd-oqz.(s%oo) = 16.7°
2 =049 41T |
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‘So\uiiun'- T\S""' -%\"":\;1 = RAr Pﬁﬁ
wnare % = {P"-\'-? N P‘d‘S
o BT RARG
= P (IR ) (Rt v Py))
P o= (B DA+ (Pyo+ Ry

St P R‘?*%ﬁ

Res P v Pa o By= PyieRy,
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Hese, Px= Rcosts’ = ()E) = 0.5 m
By, = B 3inds = (X = o5 »

e>i>.-=o.s%‘+o.sj‘ ™

Sim‘.\m—\a, ™, = B ces 30" = (05)( ﬁ}z’) T OH33 m
P‘d" = Ron3o = (0SH(E) = 0.250m

—l

P=09337 + msoj‘

P= J(0.933)% + (050)* = 19T m

0= oxea2(*70.4%) = 38,79°

P= 197 < 3879°
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A ghip frands 200 riles @ 4s° Nor% of East, +hen 300 miles
due Easr. Find the msulb'ﬂ% POS:Hon’ o the ship.

Sxanple

% .A

‘$‘+$z

3.

/

fpi = 9200 ces US® 3 4+ 200 s:ﬁ'-lS"_a
4L 3+ 4L oiles

3 -

-.-Plf 300_:‘\ + D’S n-f.les
Py + Hl.qﬁ\) + (300 3‘)
. ;.$= '-Hl._"ﬁ + )‘1!-""5 miles

egnitude mA Sicetdioo *
AN [CTICN IR bl 463, wiles

6= oron2(M Vi) = 170"

P= qu3.5 < AL wles |
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A cirplone Flies ax o aicspeed of 100 mph & o heoding of
30° sduwa oF cast. TE Ve veloaky o Yue wWiad 18
20 tmpla due wrest, dedrmioe Hae resultont \Idoci‘ﬂd-o@ e,

- plent wida respeck Yo e ground.

ifp@, P '\le\od*nd & plone celokive o Qroved (ongh)
R\/m \le\oma o Plene cadkive Yo OGc (a.irspee.é) _(ka)' |
VUn .. Vdoting of ta woind cdaktoquumd Cogh)
Here, flm = \00ws "4 = 1008 30° j
.VPA = SOfY ¥ - 50%  mph

Ao, Va= -207 + 06 | onpln

= e = (soﬁ‘a-sojh (- zo‘woj)
\/‘:&—(SDS?,-*ZD)'\: j

o _\?e(,. = (olo.b'?'-.*-_sog mpk
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Ne = [(lolo)* + (-SO)* = 83.3 mph

0= wonZ(Z2) = -3L.9°

_?;=.\f%, = 973 36. ~ 3!..“)"‘ MP'A

‘ (2;:)‘ +é\00)‘ - 2(750)(\00) tos 30"
' => Vo = 83.28 mph

New)
Nee)* = 6936 |
olso, | @aet stnBD' - '/z_

20 —_ \fp(., 83.28

= X = 6._8%? ,

= 9 = 30+ = 3.89° /

Ggein, T\fpe::: 83.3 4'-3{0-079 mpk
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A 1000 W objecr Wengs Gom 4o coldes oF egual \enpth
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Q: ma- (6 Y3.81) =98N

Eg-bu“bﬁmi
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Hee,, 7T, = =T, (0s4S° 7 + T, 5in¥5°§ N
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m = O-p 'l’(_—?SID)j = "98105\ N
= (- &

z*’H_;.,— )1-(7

. | &@5)+ (-%loj) 0
1= & ),+(

98[0)3 O 74 OJ




120 Neésrs

in Em\neanr}g\

I E6RI0ID Notes ‘

Eguntiyy

J Componests 1o D, gives 2 eguu’n
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H', Er - ' o P - 2 e (\)
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E+ E "38!0 ..
C |
=2 '?8‘0 ‘=> = Cr> 9810) = 6937“ |
VT =T33 N
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Free \ooc\uc Dio.ﬂcm (F&D) Gaf T,

(No\e mJ;e&cd Coordinade, cu(cs) \

= 98]&0307 “3'3’@5303'
W= -490.5 7 - 849(03 N
F+N+wW=0
F3 + N - 4054 -8%65 -0

Egudig ‘T 1 J - componeds to 2em,

F-490.5 =0 .. . Frd0.s A
N-BHe =5 L, ) CONZBHIL N
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